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1.1 FABCEXNHER

1.1.1 BEERMH

TE FREE A R B8R A 3 5 5 SCRR R B K SUSURIS R I 5 23R 43 B bR 100 5 SO, L b 8K
B 2R BN B REEE.

1.1.2 REHNEMIT

B1 R\ y =+3—z+sin vz KRS,

S ERTRBOEXENERR . A5 RPSRAENT, ARt G HA G EK
R EN D, ERBE A TS R IEZRBAK #25% R ¥ arcsin z, arccos xR XA —1, 1],

M OHVI—zH3—2>0,Bz<3;

Xz x>0

A o< <3, BEXEHlo, 3].

B2 RER¥y= lgﬁ +arcsin315_ 1 K% SCH.

M BT, EXR I >0, BzBr<oKz>2;

2

*} arcsin 315_1, WHFE ‘sls—_ltgl, B

HlIp =) -3 Lz
Hit, X8 D(IRR ERFENEEGHRE:

D(f) = {=

LESN.
>Rz <0 ~{<sg2

= {Il—§<z<o}'
M3 gy = flx—2) WEXEAN, 4),R f(2)BE R,
SHEM B f(z—2) BEXEBHN[, HR1< <Y,
B —-1<x—2<.
B foOmEXEA-L, 2).
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REFMEENZ, @ -5 <=z

B4 HERWy = arcsinz; Ly 251 = MR SUR.

— X

# 'f—;—l|<1ﬂzs—12>o
Bl —5<Cr—1K<5 B —4<<xr<6;
H —-5<z<5,
—4 <L xr<5.

TR, AEBROEXEA D= (4, 5).

N _fxtz o< B
ws eaEs =T ST R,
A BB ET— A RRRA. .
B bR -1 Rz A

(z—D+2 o0<x—1<K2

f(x*1)={(z-1)2 2 r—1<4

z+1 1<z<3
(z—1)? 3<z<5’

B6 EARMf(OWEB—1, 2], MEAB F(x) = f(z+2)+ f(22) BEXEH

flz=1) = {

® ERf(OmEURA-1, 2] %

W) B-1<a+2<2, B—-3<z<0;
2B —1<2x<2, B—5 <z<1

0.

N

# F(x)B5E SRR D(F) = [—_;-, o].

7 & fOBWE2f(x)+ f(1—2) =2, R f(z):
S8 EaBR1-x, LRAWR

2f(1—z)+ f(z) = (1—x)".
BT

2f()+ fA—x) =1
2f(1—z) + f(z) = 1—2)

Rz

S I
f(z) = 31+3.r 1.
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£ i1 "
L 1<z BE@ = /G-, R e,

o SREBNEXEAESBZH.
® f(omEXEN-1, 1]U[—2, —DHUQ, 2]8[ -2, 2],
hAE)ROS 2 <2, Bl —VZ< <2,
Bfe—-DR-2<r—1<2, lI-1<x <3,

RELZE, B e(MEXHER -1, V2]
&9 }ﬁ"f(tanz)—tanx+51n21}1¢0<x< , X f(cot x).

S RBEFF-MXEN, BREXFXER.

M f(tanz) = tan x + sin 2x = tan x + 2sin zcos =

B8 & flz)=

= tan x + 2tan x - cos’x
2tan x
1+ tan’x

- 2cot x
&z f(cot x) cot.z+——--~-—l T otz

= cot x + sin 2x.
W10 EHERK F(OBREXER ff(nz) —2zf(Inzx)+ 2 lnx =00 <x<e) A
f(0) =0, X f(z).
a8 BRBEI—TRATRRAE.
M Shnz=1¢ Mz=¢, HEERE

i(e) —2e'f(t) +te" =0

= tanx +

XR-TKRGE.RZ,.H
F(p) = 2t /de’ — e V“gz_"‘ez = (1 1vT=D)

ZEDB f0)=0,8 f(2) =¢(1—v1—1)
% flz) =e(1—/1—1x).

1.1.3 ANMIEM%

1. B f(z) =+sinx +v/16 — 2% PEIRR
# A)NEXEHI0, 22], 0 f(x+a) BEXRA .
B4H f(x) =sinz, fle(x)] = 1—2*, W o(x) = , BRENXER

Lol ad

Z

<
N O f(—x) =

&

5. EBy = ST AR
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B S(F)= 2 HVIF, ) =
7.8 flz+2) =25 — 2 W] f(x—2) =

8. %f(x+%)=zf+$+3,mw(x)=
2* -1<z<0

9. & f(z) = {2 o<z<<l W f(o)MEXE _ , f(0) =
z—1 1< xz<<3

 f() = :
10, f(2) = 4, % £(2) + () = f(z), Wz =
11 FABEEFAREEAA B ),

A. XA B. {4

C. XA B AR D. s AR ELRY 7 AR
2. @ f(2) = e $(2) = g WFAISRBRIOR( ).

A. f(x) = #(e™) B. f(e™) = ¢(e™)

C. f(z) = $(e*) D. f(e") = ¢(e7)

. = EXEG . .
13, REM f(z) = {sm LTS e MmN ).
A [—2,2] B. [—4, 4] c [—1, 1] D. [1, 4]
+1 <1
s =50 TS uAr(3)]-C
9 5 3 1
A. > B. 7 C. 7 D 2

15. i&g(x)=x—lﬂftg(l)]=i—‘;i’ymf(%)=( )-

At B. —1 c. i D. -3

16. B vy = In'z 5 y = 2ln = FFRE—NRK, U = F#R( ).

A —oo Lzt B.z>0

C.xz=0 D.z>=1

17. TA&ARNHETA—RMOR( ).

A flz)= V&, g(z) =z B. f(z) = ", g(z) = V&

C f@) = 2L g(e) =z 41 b= 20 aw=F

18. i&f(sin%)= 2+ cosz, M f(cos—;i)= ( ).
A. 2+cosx B, 2—cosx C. 2+sinx D. —cosx

19. FH () = % MERE( ).
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A [—1, 1] B.[—1,1) C. (—1,1] D. [0, 1)
—x 1‘<O xt <0
- gla) = { tg zmo TP = { : zmo Melf@i=C ).
A {24—1z <0 B {2—12 x<<0
2—x =20 24z =0
c {2—-12 <0 D {2-}-12 << 0
2—x 20 24z =0
21, REH f(2) ={“9” 2IS3 memmxER( ).
-9 3I<)lzi< s
A. [—3, 4] B. (—3, 4) C. [—4,4) D. (—4, 4)
2. F fla—1)=2+1, W fzo+ k) = ( ).
A (o +h)+1 B. (o +h)—1
C. (o +Rh) +2(x0+h)+2 D. (o +4)—1
In(x+1) 2
23, ==t .
@ﬁy N PR R SO R ( )
Atz il B. {z |z>ll C. {z [Je—y D. {x [x21(
24. 16 —x ).
A. (0, l)U(l 4] B. (0, 1) C. (0, 4) D. (0, 1)U, 4)
25. W f(x)=In2, W f(z+1)— f(z) = ( ).
A Ing B. In2 C. In3 D. 0
26. SRR fF()WEXRF00, 11,1 f(z+a) KESGHE( ).
A. [0, a] B. [—a, 0] C. [—a,1—a] D. [a,1+a]
lz—11
2z 41|+ 12T -
7. &Eﬁf(z)={' Sty TETNAED =
0
A. —6 B. 0 C. 6 D1
28, HEWM f(z) =2—]z—2 | BRIFTBRREH, f(2) = ( ).
4—x x=0 4—x x>=2
A. { B. {
z z <0 <2
C. {4—1 =0 D. {4—-—1 =2
44+ <0 4+x x<2
29. &M f(z) = 3+ 2cos = HIfEIER( ).
A. {2, 4] B. [1, 5] C. [—1, 1] D. [~2, 2]
W @EK =) SIS Mm@ = S =D ().
A. TEX B. #[0, 2] L HEX

C. 70, 4] EHEX D. #[2, 4]EHEX



1L.1.4 ANIENR

1. [—4, —aJU{0, n] 2. [—a, a] 3. arcsin(1—2*), [—+2, V2]
Vit

x

— Z
1=v1ts ~/i+x <0

xX—x x<<0 1
4, A s
2 im0 5 (T3 U+ s

7. 2% — x4

B, fa+2) =27 -z =2 (242)+2 ¥ flz—2) =20 —(x—2)+2
tr — 1 g
=29 44 8 41 ﬁm:f(1+—x—)=12+%+3=(1+—i—) +1 M2

=241 9. [—1,3),2,0 10 -,
x+y

11 12 13 14 15 16 17 18 19 20

D C A Cc A B D B C D

21 22 23 24 25 26 27 28 29 30
D C B A D C B B B A

1.2 fA & a9 tER

1.2.1 EHRERWH

TRRNOOAEAER: 2R AN FERE. FRYE, TRREZMESRBME
S, BB EAYF R B RELER.

1.2.2 SRNGIEME
1 BHf(x)=¢, flp(z)) =1—z, B o(z) >0, R p(x)}# B HEME .

A XR—-AEEERN, hx RN R AR
M flpx)) =@ =1—z, RN o(2)FEEE o(x) >0, TR

o(x) =+/In(1 —x).
Ail(l—z)>0,Bl1—-z>1Wz<0, B o(x) EXRH(—oo, 0].
M2 RE¥y= n+arcsin% B R

A REFMWEXBRER N y= f(2) BBz = (), Wz, y WEREE. W
BREKy = (x), By = f(z) WEEER y = 7 (2) KEXE.
W hR=EAERENEIEXER
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-1

< arcsin z << —;, Bl

l\)’:i

s . X 3
5 <n+arcsm—2- <7

i y = n+ arcsin, B[ z = 2sin(y —n), MITRIOR BN

y = 2sin(x — x). x € [—, %n}

: <
LT Om&@;&m(z)wm

M SBRUHREE, REELSEEXK.
YUr<OM, y=2, My=> 0Bz =—Vy;
Ur>0M, y=—2, By<0Bz=—1Vy,

B3 & fx) =

& EFrfg
' —Vz =0
$(z) = ,
‘ {—«3/; <0
WA $(4) =—V4 =—2.
xz <0 2—cosx <0
s — = —-1)].
B4 & f(x) >0’ , $(x) {l—f ER?‘[f( )]

B (-1 = (-1 =1,
B HI—D] =41 =1-T=0.
WS %z OB, f(DWEaf(2) +bf(5)= 22+ 2, B =08, f(0) =0,

lalsl6l. iR f(x) BAEE
S KRE f(2), B (D) HEREY f(2)RHF R

W maf () tof ()= e+ Lo mnl @
of (2 )+of ) = £ +3z
S HICEN R

f(z) = [(2a-—3b)1+ 2”]

BE% a? — 8 0, B 2a—3b, 3a— 26 FRAKHIF,X f(0) =0, &

o 1
f(—z) = pean

[ (2a—30)=+ Sa= B pa).



8 BRI SR %

MR f(x) e k%

e CRMREK f()FE[0, 4] LRBFIHMRE,ALE f(—=)5 f(logi8) KIANKFE.
SHAR A PR R RO TR DR B U SR A 1.

B S = 1), flogs®)= f(logy (5) )= £(=3) = @),
fii 3 <<=, & f(x) > f(3), BB
f(—n) > flogid).

7 HBEN f(x) =z - 2 mAEL.

2 +1
B f(OREXFER(—o0, o), B
2 —1_ . 1—2
f(’I)‘—:(—I)‘m—( x) ——-1+2,
.=l
=z f(x),

O f(x) RBRE.
H8 REMy=In(z+/z7—1) (z=>1) HRBK
M BRe=z+/22—1,

S S
BA e z+/ 2t —1
pA L @sAam, |

=z—/2' —1,

= —;—(e’ +e7).

Ahr=1, A—120, FRz+/Z 121, 8 y>0, Bk, FrROREBY

y= —12—(e" +e7), z=0.

4—z 1< 2
o im;&f(x)={0 * :z|>2 R FF).
- ) | o) <2
" f(f‘x))z{o ) A 1> 2,

W20, flz)=0,F | f(x) <2, B

ff(x)) =4—0" =4,
Yz (<2l flz) =4—2"
45 I RPIE 5L PTIE
|4~ |<2Eﬂ~2<z’—4<2,ﬁﬁ<11|<~/§,f§€lzl<Z,Ef?§~/§<|Il<2;
Mld—z2|>2, TREB | zI<VZ, &2 I1>V6, &1 2I1<2, TR |« 1< V2.
& PR E
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0 |z |<42Z
f(f(x))={4—(4—x2) Z <zl 2
4 lz|>2
B10 BRI x€ (—oo, +o0) , FE c# 0, f(x+c) =~ f(x), W f()BAMY
PR,
iEfR
Bl Vze(—oo, +oo)f
flz+2c) = fl(x+c+c) =— f(x+c) = f(x)
Rk fl)RAMR 20 AR
x —oo<zx<l
%11 iﬁtf(x)={zz I<r<<4 R (2N
2 A< x<too
A ROBRBEOR KRB, RFES HIR & X R B Py ok B 2 5k 3 AW
Yoo z<1B,y=z, REBHIz=y, —co<y <]
Bl<r<al, y=2, REEH z =y, 1 <y<16;
Yr>a0, y=2°, REFH z = log,y, y > 16.
g LR, A
x —oo < x <1
y=f‘(z)={ﬁ 1<z<16
log,x 16 <<z <+ oo

W12 Ry =arctan[a*vV1— 2 +In(2* +2)] ETREXDERBNES.
M Wu=1,u, =2, us =a*, uo=Inx, u; = 2, fo= arctanz, go=+x,

W y= folus - (golu —uz)) +uyo(ur +us)].
B o"RRBREMESER.

W13 S = 2111,¢<x>= [ jzgyfkf(qv(z))-
e o(z) >1
" flg(=)) = <2<p(1) o) <1
Yr<—10, o) >1; Bz 11, p(2) <1
e‘z z<<—1
i f(¢(1))={2x‘ —1<z<0.
2sinx >0

14 HERY f(2) = In(z+V/27 +1) BFREE.
S KEEFEE—BS f(—HE.
M ()N ESER(—o0, +o0),

fl—z) =In{(—x+/(—x)*+1)



